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Assume that the volume and the amount of gas are constant in the following problems. GV
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* W Pan 1. A gas in a sealed container has a pressure of 125 kPa at a temperature of 30.0°C. If the
‘i})‘) K: \ pressure in the container is increased to 201 kPa, what is the new temperature?
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2. The pressure in an automobile tire is 1.88 atm at 25.0°C. What will be the pressure if
the temperature warms up to 37.0°C?_ . . O N
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3. Heliom gas in a 2.00 L cylinder is under 1.12 atm pressure. At 36. 5°C that same gas
sample has a pressure of 2.56 atm. What was the initial temperature of the gas in the
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4. If a gas sample has a pressure of 30.7 kPa at 0. 00°C by how much does the m“ \s
temperature have to decrease to lower the pressure to 28.4 kpa‘? i L ﬁ% '
- p P 2 ] v i
(X2 B xTrxT aghklax a¥906 g5ak (=2l
; ‘ t ‘ 2 ,;*4 ggﬂé\h%&

0k —dS3K = L8, k) op T

_ P 45‘“%

5.A nfnd plastic container holds 1.00 L methane gas at 0.9 atm pressure when tns ﬁf‘w\ib
temperaﬁre is 22.0°C. How much more pressure wﬂl the gas exert if the temperature is

dto 44.6°C? \ =
raised to f m * ’;%ﬁ g‘lﬁ

c?anJ?”J NF L isi?\»

s 55?5’ i:'ér 3 7 m_%:
~oh _ B < Fa = (i3.bk)(0Tadn]
¥

B il

¥ b e
‘T A ( 245

@



\/;"\/- :
T > %%ﬂ‘ v N fw%?

ﬁ/ogadro s Law Worksheet
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1. A 25.5 liter balloon holding 3.5 moles of carbon dioxide leaks. If we are able %m

to determine that 1.9 moles of carbon dioxide escaped before the \f""i"*'Q«
ol
container could be sealed, what is the new volume of the container? d_
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Mﬁz If Sample #1 o@ntams 2.98 moles of hydrogen at 35.1 degrees C and 2. 3 atm
E ' b ina32.8L contamer How many moles of hydrogen are in a 45%il|ter
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3. Sally adds 3.13 moles of argon to a 5.29 liter balloon that already contained
7 2.51 moles of argon. What is the volume of the balloon after the addition
e

a, of the extra gas? *{/ﬁ% 'ﬂ?
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If Sample #1 contains 2.3 moles of chlorine gas in a 3.5 liter balloon and at

the same conditions Sample #2 contains 1.2 moles of chlorine gas, what is
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the volume of the balloon that contains sample H27?
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5. Pedro adds 1.25 moles of hehum to a balloon that already contamed 451
moles of helium creating a balloon with a volume of 8.97 liters. What was

the volume of the balloon before the addition of the extra gas?

V“’i“/? l;miﬁmwl
|7 de A g‘
‘ 3 Ll ;:- b X
LV, Vaxon & % g@ mad
# Y i Y
i’:‘?\ e RABI il — il s
rd rn‘ ‘g) F-\,, m
1 ?7
g
3 ; \ . .
6. If 1 fill a balloon with 5.2 moles of gas and it creates a balloon with a volume
" of 23.5 liters, how many moles are in a balloon at the same temperature
‘' and pressure that has a, volume of 14.9 liters?
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- > Ideal Gas Law Practice Worksheet
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' Solve the following problems t{smg the ideal gas law: \/
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1) How many moles of gas does it take to occupy 120 liters at a pressure of
2.3 atmospheres and a temperature of 340 K? s
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2) If I have a 50 liter container that olds 45 moles of gas at a temperature of
200° C, what is the pressure inside the container?
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- 3) It is not safe to put aerosol canisters in a campfire, because the pressure

. —~Iinside the canisters gets very high and they can explode. If | have a 1.0
/ liter canister that holds 2 moles of gas, and the campfire temperature is
\ 1400° C, what is the pressure inside the canister?
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4) How many moles of gas are in a 30 liter scuba camster |f the temperature
of the canister is 300 K and the preesure is 200 atmospheres? ¢ [ /
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I have a balloon that can hold 100 liters of air. [f | blow up this balloon with

3 moles of oxygen gas at a pressure of 1 atmosphere, what is the
temperature of the balloon?




